o REV DATE ECN NUMBER APPROVED DESCRIPTIDN
CLOPAY COACHMAN SERIES: cPnn, HPan, CGnn, Cxnn THIS PRODUCT COMPLIES WITH THE 2018 IBC/IRC. 171 'SED FOR DI
HOLMES SETTLERS SERIES: sx 031 08/21/12 i L3
' nn 04 | 06/05/13 SH ADDED GLAZING DIMENSION.
IDEAI_ AFFINITY SERIES: AGnn S;Ié |_(|)-‘|-?E BOEl;.ll-Jé)é\lSGLA;\‘/SAS”\__SABLE WITH 05 08/2016 SH REMOVED WIND SPEED TABLE.
NOTE: ”"nn” REPRESENTS THE ARRANGEMENT OF THE DECORATIVE MAX GLAZING SIZE 10-11/64" X 06| 11/23/20 SH UPDATED TITLE BLOCK AND ADDED COMPLIANCE STATEMENT.

OVERLAYS. THE FIRST DIGIT WILL HAVE A VALUE FROM 1 TO 3 AND 16—-11/64"
THE SECOND DIGIT WILL HAVE A VALUE FROM 1 TO 5.

L]
THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE | 3 TRACK CONFIGURATION (DOORS WEIGHING 800 LBS OR MORE)
p——— A WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE
IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS

HORIZONTAL TRACK SUPPORT BY
REGIONS (REF. CHAPTER16 FBC/IBC) SSON"RER oHvAE':aGsBE%ﬁED FOR lI DOOR INSTALLER (TO sun}ﬂ
i S A A :
I
1 3" GALV. TAPERED STEEL TRACK AND ANGLE,
52 16 GA. MIN. GALV. STEEL END STILE A TRACK THICKNESS: .101"“. ANGLE THICKNESS: .080°
: -- ‘ J T T T e s
12 GA. GALV. STEEL TRACK JUMCTION, TWO 1/4" BOLTS
% JA?A%A%TETH Féﬁﬁgj}:%p} wst}os[z 1 14 GA. MIN. GALV. E & NUTS FOR EACH TRACK, SLOT TO TRACK JUNCTION
o x1— . STEEL CENTER HINGE & T
] WOOD LAG SCREW PER BRACKET. 7/16" PUSHN FASTENED TO BACK OF [DOOR [ NO. OF T,
I INSTALLED ON DOOR W/C4> EACH x HEIGHT | SECTIONS
€ o 2" GALV. STEEL TRACK ROLERESHAN [EoR #14x5/6° SHEET METAL 8 -t —L Lot : 72
2 7 B g ol S TR TS | | B : o S
: 2 1/4"x5/8" BOLT & NUT OR 14 GA. GALV. STEEL ROLLER HINGE FASTENED TO & J-lag L =y
o TWO 1/4” RIVETS. END STILES W/(4) EACH #14x5/8” SHEET METAL S o
< o SCREWS AND (4) 1/4"x3/4" SELF TAPPING SCREWS. g . =07
STLE 2" 10 BALL SHORT STEM STEEL ROLLER WITH & T2 . =0
INTER. STEEL OR NYLON TIRE s R o o é’.‘_'.
FBT—F7
i SLOT LOCATION. D i
ENGAGES IN NOTE: TRACK CONFIGURATION ABOVE 6 y/
LA | oursioe Ton sE THE DOOR OPENING DOES NOT =07 7
HANDLE OF DOOR. AFFECT THE WIND LOAD RATING OF :gr: :
MAX. DOOR WIDTH = 16°-0" THIS DOOR. S i@:
NSl Al SNAP LATCH ENGAGES QUISIDE_KEYED LOCK M-AX SECTIDON
LOCK BAR LOCKING e :
ONTO VERTICAL TRACK. HEIGHT 24*
: FOR ANY OF THE MODELS LISTED ONE SNAP LATCH ON )
ON THIS DRAWING, THE FOLLOWING W—LEVEL DOORS USE EQUIVALENT INTER. STILE EACH SIDE OF DOOR. SECT A=A  — 2" THICK BASE DOOR 2" TRACK CONFIGURATION (DOORS WEIGHTING LESS THAN 800 LBS)
SECTIONS (UP TO THE MAXIMUM WIDTH ALLOWED ON THIS DRAWING). -— 2-5/8" END STILE THICKNESS HORIZONTAL TRACK SUPPORT BY
w4, W5, PYr% %YJ%%IFSESSQ?NHEV};Ea 2k DOOR INSTALLER (TO SUIT)
ANY OF THESE W-LEVELS MAY BE SHOWN ON THE OPTIONAL SHIPPING R T POLYURETHANE ADHESIVE %— 12 GA. GALV. STEEL
LABEL ON THE END STILE. END : |§ D TOP ROLLER
STILE BRACKET. EACH
IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING 27 GA. STEEL MIN. é BRACKET ATTACHED
LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES: INSIDE HANDLE INTERIOR & Z WITH 14x5/8"
7 (4) #14x5/
1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 SOUTHERN EXTERIOR SKIN % SHEET METAL 13 GA. GALV. STEEL FLAG BRACKET
YELLOW PINE WOOD JAMBS MOUNTED DIRECTLY TO THE SUPPORTING STRUCTURE TO QUTSIDE KEYED LOCK WITH G—40 7 SCREWS - . :
CREATE THE MOUNTING SURFACE. ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED 'SNAP_LATCH LOCK_OPTION GALVANIZING, % ¥ EACH FASTENED TO WOOD JAMB WITH
DIRECTLY TO THE SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF END XA ] BAKED-ON PRIMER % (3) 5/16"x1—=1/2" WOOD LAG SCREW.
SCREW HOLE MUST BE AT LEAST %' FROM BOTH EDGES FOR A 5/16" LAG SCREW. IcE LOOK ENGICES  "AND A BAKED—ON *’/’
2)IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING STRUCTURE (WOOD TRACK. ONE POLYESTER PAINTED %
FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE WOOD BUCK OVER SHALL BE LOCK ON TOP COAT. 7
INSTALLED THE WALLBOARD FRAMING THE OPENING USING THE JAMB ATTACHMENT EACH SIDE }// = NOTE: DOUBLE TRACK
FASTENERS LISTED BELOW. HOWEVER, THE JAMB ATTACHMENT FASTENERS MUST BE OF OF DOOR 7 & vy
A SUFFICIENT INCREASED LENGTH TO ACCOUNT FOR THE THICKNESS OF THE ) ONE POUND DENSITY % 14 GA. GALV. ] LOW HEADROOM IS
WALLBOARD TO ENSURE PROPER FASTENER EMBEDMENT INTO THE STRUCTURAL INSIDE_SLIDE_BOLT EXPANDED POLYSTYRENE % STEEL ROLLER T AVAILABLE AS AN OPTION
FRAMING MEMBERS OF THE SUPPORTING STRUCTURE. (4) #14x5/8" SHEET LOCK_OPTION FOAM INSULATION L’”ﬁ?‘ HINGE. SEE S Cf
1/2* FROM EDGE MEIAS SERENE LAMINATED TO BOTH ?@ SECERRe=S 8 2" GALV. STEEL TRACK
" EXTERIOR AND INT Re 1B I TRACK THICKNESS: .060"
NOTE: THE DESIGN OF THE % 3 20 GA. GALV. STEEL LN
ELEVENTS. SHALL GE THE TONGUE AND GROOVE JOINTS-"Jf U_BAR. TWO U—BARS m
\ | RESPONSIBILITY OF THE o 13 GA. GALV. STEEL BOTTOM é PER DéOR SECTION. z :
THE, BURDING OR STRUGTURE AND (4) 1/4"x3/4" SELF \g/ BRACKET. ATTACHED WITH (2) ' ATTACHED WITH (2) g ™S TYP. 2-1/2"12 GA. GALV. STEEL TRACK BRACKET.
IN ACCORDANCE WITH CURRENT TAPPING SCREWS #14x5/8” SHEET METAL 1/4”X3/4" SELF TAPPING 'ﬁ'_" MiIN. (4) TRACK BRACKETS PER SIDE. “D|STANCE BETWEEN
BUILDING CODES FOR THE LOADS 14 GA. END HIN A MEDIA SCREWS. SCREW AT EACH HINGE ] TRACK BRACKETS NOT TO EXCEED 30" O.C.
PREPARATION OF JAMBS BY OTHERS. LISTED ON THIS DRAWING. 44 GA. END HINGE LOCATION.
gmons crmmas sox Somm aun - Wy - nguifécﬁg;.zomﬂ 27 GA. STEEL MIN. :
VERTICAL JAMB_ ATTACHMENT (WOOD FRAME BUILDINGS): SR SRS TRACK INTERIOR SKIN WITH G—40
3/B"x3" LAG SCREWS ON 19" CENTERS. 1—1/8" 0.D. WASHER REQUIRED. LAG SCREWS GALV., BAKED—ON PRIMER :
MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE. : AND A BAKED—ON TRLTTL LT,
HORIZONTAL JAMBS DO NOT TRANSFER LOAD. [ POLYESTER TOP COAT. DESIGN LOADS: +30.0 P.S.F. & —30.0 P.S.F.
RTICA AMB ATTACHMEN =30 QCK MIN ONCRE] QOLUMN DOUBLE TRACK ALUMINUM EXTRUSION TEST LOADS +450 PSF. & —450 PSF
3/8"x3" SLEEVE ANCHOR BOLTS ON 17" CENTERS (2,000 PSI MIN. CONCRETE).
WASHERS INCLUDED WITH SLEEVE ANCHORS. ) ol A WEATRER SRS
OR
1/4"x3" TAPCON SCREWS ON 14” CENTERS (2,000 PSI MIN. CONCRETE) OR 17* ) [MANUFACTURING PRODUCT CODE WINDLOAD RATING | MAX. SIZE:
CENTERS (C—90 BLOCK), 1" 0.D. WASHERS REQUIRED WITH TAPCONS. CLOPAY CORPORATION MPC: DSIEO—1M479 W5 16'0" x 16°0"
ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING ' £ rgsiy = DATE:
SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD. ORI - 8585 DUKE BOULEVARD 4/06/06 DESCRIPTION:
DESIGN ENGINEER: 'MARK ‘WESTERFIELD, P.E. CINCINNATI, OH 45040 DRAWN BY: MODEL COACHMAN +30/-30 PSF DESIGN
OTHER JAMB CONFIGURATIONS: REFER TO DASMA TDS—161. A LICENSED DESIGN FLORIDA P.E. 48495, .. - CORPORATION (513) 770—4800 BFA TR /
PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR NC P.E. §23832, CRECKED BV: B
JAMB CONFIGURATIONS. TEXAS P.E. #91513 Clopay Corporation All Rights Reserved. 103710




